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(i) All questions arc compulsory. (c) B3 (CVR
(ii) Question Nos. 1 to 5 are objective type questions. . )
(iii) Internal options arc given in question Nos. 6 1o 26. _ (v) s&i & : we -7 =T FAQ e
(iv) Marks alloted are indicated in front of each question. (a) -14 (b) 14
(c) 0 (d) 49

. {v) This question paper contains groph hased question. Attach the graph,
where it is required.
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Choose and write the correct choice :

() 1fA={1,23).B={23 4 Then A _ B will be :
(2) {1, 2. 3, 4} (b} {2, 3, 4}
(c) {2, 3} (d) ¢

(i) Which of the following functions is not a polynomial :
(@) 4x? - 3x + 2
(®) x+ 2Jx a2zSubjects.com
(@Qu'-v?- /3
@x+7

(iii) If linear equation 3y + 4 = 1, then the value of ¥ is :

(@1 (b) -1
s o1
© -3 (d) 7
(iv) The value of sin 45° is : a2zSubjects.com
1 1
(a) E (b ‘_E
3
© 2 @0

(v) Distance berween two real numbers ~7 and |-7| on a number line is :

(a) ~14 (b) 14
(c) 0 (d) 49
T-110 P.T.0.
a2zSubjects.com

a2zSubjects.com

(4)
2. ﬂmmaﬁqﬁuﬁfmu 1x5=5
(i) a2 A 37 5775 2, WA Qb= i !
(ifi) 108, = = oo :
n a2zSubjects.com
(v) el a9 @ 3 73 = A 9 v 92 # e T4 QN

(v @ =1 ofomd 3 993 g #1028

Fill in the blanks :

(i) Name of the author of the book "Vedic Mathematics” is

(ii) ITAisanyset,then A U@ = e

(ifi) log, % S

........

..................

(iv) The concession provided on marked price of an object is called ..............

(v) The point of concurrence of medians of a triangle is called ................
3. W Wig aEd a2zSubjects.com 1x5=5
we A wy ‘g
(i) FEftE (a) i
(i) V2 (b) 90° _
(iif) TS ¥ fl & 49 @ (o) enﬂ(
(iv) T g @1 5% 0 (d) 3.1416
(v) W (e) et
(f) smftr w5
(g) Frofesm
T-110
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Match the column :
Column ‘A’ Column ‘B’
(i) Varahmihir (a) Leelavati
{ii) 2 (b) 90°
(iii) Angle between diagonals of {c) 60°
a rhombus a2zSubjects.com

(iv) Each angle of equilateral triangle (d) 3.1416

{v) Bhaskaracharya (e) Panch Siddhantika
(D) [Irrational number

{g) Trishatika
I x5=5

ww/eTad fafan

() ¥ W afasn smiwg 3 fFwr o

(i) B (=5, 0), x-om W RBE &

(i) s & fada sk F waeree Fa f

(w)ﬁﬁwahamm%ﬂaﬁﬁﬁaﬁﬁ%éaww
g & a2zSubjects.com.
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i

Write True or False :

{(iy The Discoverer of Zero was Aryabhatta.

(ii) Point (-5, 0), lies on x-axis.

(iii) The inverse pz;ocess of logarithms is called Antilogarithms.

(iv) Triangles drawn on same base and between a pair of parallel lines, arc
equal in area.

(v) The point of concurrence of the angle bisectors of a triangle is called

circumcentre of the triangle.
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uw yramn o s fefg I1x5=5

(i) as whawii W w1 Gw wan @ fm & 7

(i) T300 W 2 7wl a s% widw wny 71w § Ao AT # OAH A

i

(iii) B[ & wivfela & afvamr feafi

(iv) Rt muim aqs ABCD %1 emgw qend tmfm T wRE
i a2zSubjects.com

(v) T TR 9 & Ge W afaeed oufe fafao

Write the answer in one word/sentence :

(i) Which type of linear equations is of the form ?

(i) Find Simple Interest of T 300 for 2 years at 5% rate of imerest per
year. a2zSubjects.com

(ili) Define Altitude of the triangle. |

(iv) In parallelogram ABCD, show adjacent sides by diagram.

(v) Write sample space, in the experiment of throwing a cubic die.

g & wfem qar gl tad @ i fafag 2

Write the definition of median of a triangle and concurrent lines.

eEr
(OR) :
e g0 B & Sores i de 8w Sk
Show by diagram that, Angle bisectors of a Iriangle are concurrent.
T-110 a2zSubjects.com
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/{/a‘r Fei 3 WAl ¥ AT AU (ASA) Sy fofew 2
Write Angle-Side-Angle (ASA) congruency criteria, for congruence of two
triangles,

Hygat
(OR)
9 Y@rdg sk @ # &9 "ahew gig & 7

When the two line segments and the two angles are congruent ?

/(. 2 gy et § ©F W T O a9 @ A g B A o

a2zSubjects.com

3 O v % W 8, fag A s O Pge watw @I/ 2c

In two right triangles, one side and one acute angle of a triangle are equal
to corresponding side and acute angle of the other triangle. Prove that the
two triangles are congruent.

Hdr

(OR)
ﬁﬁm@ﬁﬁmgnmcnﬁqﬁﬁoﬁ@wmﬁmﬁﬁm
g, @ fag =—

A AOC =z A BOD

a2zSubjects.com

A
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In given figure linc segment AB and CD bisect each other at the point O,

then prove that :

A AOC = A BOD a2zSubjects.com
A
D
0
C
/ B
9] TET H =T I T O 4 T 99 A A (T § W e
¥ = i'} aZzSub]ects.cnm 2
Construct 2 square whose one side is 4 cm. (Steps of construction is not
compulsory)
Eon
(OR)

f Write aoyv two properties of parallelograms.

Iu‘ﬁéaﬁ:&_—%ﬁf-ﬁﬁ:ﬁzﬁ'm?{mﬂ— 2
D C
A B

a2zSubjects.com
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Show the axis of symmetry of following fipure :

D C

A 1
A9
(ory a2zSubjects.com

A A =W F v saEvE FE & afwy fafom

Write any two nccessary conditions for the construction of rectangle.

11. 3t U=1{1,2,3,4,56) 70 A= 12,4, 6]
a1 fag Ff97 (A)' =A
IfU={1,23,4,5 6} and A= {2, 4, 6}

Then prove that (A")’ = A
AqqQ
a2zSubjects.com (OR)

Find two rational numbers between 3 and E'

.mﬁmmﬁ?mmmf
TG

In J3 or 43 which is bigger ? Solve it.

P.T.0.
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(OR)
J5++/6
J5 -6

Simplify by rationalising its denominator :

%j—ﬁ a2zSubjects.com
135, TF T T 4800 § wieEm T 5400 # ¥ W wfawm @ WA AU 3
A cow was bought for T 4800 and sold for ¥ 5400. Find the profit percent.
HAqar
(OR)
w TS W AR T T30 8 W 15% W W A I Q) g g
W e T aeE R IEE fEE e e s
Marked price of a book is ¥ 30. This is sold at 15% discount. Find the
discount and the selling price of the book. a2zSubjects.com
14; T 4000 W 5% afis =9 & W 2 W w fuawm ww a3
Find amount of T 4000 at the rate of 5% per year for 2 vears.
aqaam
(OR)
do @dl & ¢ @ =R fafaw
Write any three types of Bank Accounts,
T-110 a2zSubjects.com
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. ls/ufemaf&mﬁﬂrquﬁmﬁmﬁﬁs;mmnﬁr{x)=21+3

B, f(0), f(2), f(=2) A £(3) F U WA
IF & real function f is defincd such that at any point x its value is
f(x) = 2x + 8. Find the value 1(0), 1(2), f(-2) and £(3).

Faa
(OR)

fefafs frgal =1 wwafrs s wefy § frefm i
{21 ﬂ)r {'4- ﬁ}v (U- 3}! ("31 _ZJ

a2zSubjects.com

Represent these points in Rectangular coordinate system :

(23 ﬂ}l {"‘41 6'): (ﬂi 3)1 (_3I _2J

j}(ﬁq@ﬁfﬁvwmaﬁmqﬁmaﬁmamm’m| 4
xd-8x2+x+2 AW xd - 3x24 2x + 1 a2zSubjects.com
Find sum of given polynomials and find the degree of sum.
x? - 5x* + x+ 2 and x3 - 3x2 + 2x + 1
b |
(OR)
TR p(x) =x? —4x + 4 3R g(x) = x -2 T TV Hw @ TS F
Ud Fard|

= 52
p(x) = x* —dx + 4 and q(x) = x - 2, Multiply. p(x) by q(x) and find the
degree of the product.

T-110
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17. fag =ifg - 4
dlog5+2logd=4
Prove that :
4log5+2lopd =4
Hogar
. (OR)

x ® uE 3| S afg

logx~log(x-1)=log3

Find value of x if
Slogx—log (x-1)=log3

! . -
\Ly.wawn‘ﬂr%a—mermﬁmthnssmmﬁ. du W
FHiferTl

a2zSubjects.com

4
On adding two third of a number to the number, it gives sum 38, find the
number.

a2zSubjects.com Sl

(OR)

Th BS & A BT 2:3:5 & aqua F § Bgw & A6 i w9
e Fifa

Three angles of a triangle are in ratio 2 : 3 : 5. Find the measure of all three

/ angles.

12
19, ‘Iﬁt:nﬂ=?, ﬁmmsinﬁ,m;ﬂ.

12
IftanB = 5 Then find sin 8, cos 0,

e
(OR)

fax wifwg

sin 60° cos 30° + cos 60° sin 30° = sin 90°

T-110 aZzSubjects.com
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Prove that :

sin 60° cos 30° + cos 60° sin 30° = sin 90°

2 T a9 Rres from 4 S 8, T oimia wAEYS & T Wb 4

Radius of a circle is 4 cm. Construct a regular hexagon circumscribing the
circle.

A p -]

(OR)
THE TS ABCD ' T i frd feef AC =7 WL st feot
BD =5 ot €, 3% a9 @ @7 30° 2 a2zSubjects.com

Construct a parallelogram ABCD in which diagonal AC = 7 em. and diagonal
D = 5 cm., also angle between the diagonals is 30°.

wmﬂqﬁaﬂaﬁ%mqﬁém4%aﬁﬁaﬁaﬁﬂmﬁzﬁm
i) a2zSubjects.com 4
Find the probability of getting a number greater than 4, by throwing a cubic
die.

HAGHT

(OR)

3 fosdl B T TW IO W F Y T T IR A A A
T FAC

Find the probability of getting atleast one ‘Tail', in the experiment of tossing

a2zSubjects.com

two coins simultaneously.
_7 @ y-3 @ wm ¥, qwww ga A s
Divide 2y? + 6y =7 by y - 3 and find the remainder.

P.T.O.

2%

. (14)
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(OR)

‘2" F R R & AT 2t +ax o lxcka o+ 3, 2x- 1) @ qoia Pl
g 2
For what value of ‘a", 2x3 + ax? + 11x + a + 3, is exactly divisible by

@x-1? a2zSubjects.com

9 OF UOH W S 99 2 W0 R 99 & sl frewr g e W
W FFTREA T R I0M ARG W @ ogw A e A
Hee! 5
A tree broke due to air. Upper part of the tree touched the ground at 30°,

at a point which is 30 m. away from the fool of the tree. Find the height of
the tree.

HYET

(OR)
& dAR W FEF W @ HFd @0 3@ TH W IAGH K0 300 F
@ ¢, Az HAR # s9E 30 R 2, @ fm @ =fFw w® g o
it a2zSubjects.com

The angle of elevation of the top of a tower to a man standing on road is
30°. If the height of the tower is 30 m. Find the distance of the man from
the tower.

7 1800 T 10% affs = & o & fedt wg safy & fau wwafe ==
7 378 &1 a% W ¥ ¥W 5
The compound interest of ¥ 1300 at the rate of 10% annual for some time
is ¥ 378, Find the time period.

gar

(OR)
% SR 3 T SR T R W T 4800 ET A WA 15% o
§ 38 TEFER W AN AME THRK I R omeF A F A W
™ 10% # @ &
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A carpenter made a sofaset with construction cost of T 4800. He sold it to
a shopkeeper at 15% profit. At what price should the shopkeeper sell it 1o

a customer to earn 10% profit ?
f/ﬁﬁﬂﬂﬁﬂ{
R Al TR o & el 99 € O 9w amm @ -5

Prove that :

If diagonals of a Parallelogram are equal, then it is a rectangle.

AT

(OR)
frg AT : el o A qael ¥ ng el @ fremt 3 AT S
@ i g a2zSubjects.com

Prove that a quadrilateral formed by joining mid-points of the sides of a

square is also a square.

zsxﬁq‘ﬁmﬂmmﬁ%mfﬁmaﬁmﬁ ﬁm@ﬁ;mw

10-10 HI9 aret & Ft ‘eEfe faero anelt’ wd @t sngfa Enei

qaER| 5
19, 27, 40, 3, 33, 41, 18, 8, 20, 3, 23, 49, 16, 36, 14, 23, 49, 9, 35, 23, 10,
37, 24, 22, 28, 29, 12, 6, 39, 38.
Marks obtained by 30 students in an examination are as follows. From given

marks, make ‘frequency table' and ‘cumulative frequency table' by taking

a2zSubjects.com

classes of size 10-10.
19, 27, 40, 3, 33, 41, 18, 8, 20, 3, 23, 49, 16, 36, 14, 23, 49, 9, 35, 23, 10,

37, 24, 22, 28, 29, 12, 6, 39, 38.
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ara
(OR)
mmrﬁaﬁﬂtﬁﬁ?ﬁmﬁmwmmﬁmﬁﬂiﬂmm
fea g . a2zSubjects.com
FISIET 145-155| 155-165| 165-175] 175-185] 185-195] 195-205
oI T 6 8 12 21 13 10

Marks obtained by 70 students of class 9™ of a school are as follows. Make

its histogram.
Marks 145-155 lSS-It‘;S 165-175| 175-185| 185-195] 195-205
No. of 6 | 8 2 21 13 10
Students
a2zSubjects.com
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